
Equation of a Line

The line 𝑦 = 4𝑥 + 3 crosses the y-axis at A.
1) What is the coordinates of point A?

2) Write down the equation of a line 
parallel to 𝑦 = 4𝑥 + 3.
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1) Find the equation of line L.

2) Find the equation of line M. 

3) Write down the coordinates of the point 
where Lines L and M intersect.

A straight line has the equation of 
3𝑦 + 12𝑥 = 9

Work out the gradient of this line. 

A line passes through the point (0 , 5). The 
gradient of the line is −2. 
Write the equation of the line. 

A straight line has the equation 𝑦 = 2𝑥 − 4. 
1) Write down the gradient of the line. 

2) Write down the coordinates of the 
point where the line crosses the y-axis. 

A line passes through the points −2 , 5 and 
(6 , 9). What is the equation of the line?
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Answers

𝑦 −intercept is 3. so the coordinate is (0 , 3)

𝑦 = 4𝑥 + 𝑐
E.g. 𝑦 = 4𝑥, 𝑦 = 4𝑥 − 2 𝑜𝑟 𝑦 = 4𝑥 + 5

𝑦 −intercept is −4. so the coordinate is 
(0 ,−4)

The gradient is 2. 

𝑦 = −2𝑥 + 5

3𝑦 = 9 − 12𝑥
𝑦 = 3 − 4𝑥

The gradient is −4.

A line passes through the points −2 , 5 and 
(6 , 9). What is the equation of the line?

𝐺𝑟𝑎𝑑𝑒𝑖𝑛𝑡 𝑚 =
𝑐ℎ𝑎𝑛𝑔𝑒 𝑖𝑛 𝑦
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